
1 AFN-1394

B.B.E./B.A. DEGREE  EXAMINATION, APRIL 2011

First Semester

Economics/Economics Vocational (Tourism)

BUSINESS ECONOMICS—I

(Non-CBCS—2004 onwards)

[Common for B.B.E and B.A. Tourism Management]

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (8 × 3 = 24)

Answer any eight questions.

Each question carries 3 marks.

1. What is meant by Business Economics ?

ÁoP¨ ö£õ¸Íõuõµ® GßÓõÀ GßÚ ?

2. What are the scope of Business Economics ?

ÁoP ö£õ¸Íõuõµzvß ¤Ó¨¦PÒ ̄ õøÁ ?

3. What is Consumer Surplus ?

~Pº@Áõº E£› GßÓõÀ GßÚ ?

AFN-1394 BBE1M1/BTM1M1
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4. What is Utility ?

£¯ß£õk GßÓõÀ GßÚ ?

5. Define Income Demand.

Á¸Áõ# @uøÁ — C»UPn®  u¸P.

6. What are the measurement of elasticity of demand ?

@uøÁ ö|QÌa]°ß AÍÂkPÒ ̄ õøÁ ?

7. State the factors determining elasticity of demand.

@uøÁ ö|QÌa]°øÚz wº©õÛUS® PõµoPøÍz

öu›ÂUP.

8. What are the properties of Indifference Curve ?

 Œ©@|õUS ÁøÍ@Põmiß ußø©PÒ ̄ õøÁ ?
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9. What is demand forecasting ?

@uøÁ •ßPozuÀ GßÓõÀ GßÚ ?

10. What do you mean by production function ?

EØ£zv Œõº¦ £ØÔ }Ãº AÔÁx ¯õx ?

11. Mention the concept of law of production.

EØ£zv Âv°ß P¸zvøÚz öu›ÂUP.

Section  B (3 × 12 = 36)

Answer any three questions.

Each question carries 12 marks.

12. Explain the objectives of a Business firm.

J¸ ÁoP {ÖÁÚzvß @|õUPzvøÚ ÂÍUSP.
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13. Describe the law of equi–marginal utility.

Œ© CÖv{ø»¨ £¯ß£õmk Âvø¯ ÂÁ›.

14. Explain the Law of demand.

@uøÁ Âvø¯ ÂÍUSP.

15. Explain the types of elasticity of demand.

@uøÁ ö|QÌa]°ß ÁøPPøÍ ÂÍUSP.

16. What are the importance of Short – run and Long –

run forecasting ?

SÖQ¯ Põ» ©ØÖ® }shPõ» •ßPo¨¤ß

•UQ¯zxÁ® ̄ õøÁ ?
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17. Explain the Laws of Production.

EØ£zv Âvø¯ ÂÍUSP.

Section C (2 × 20 = 40)

Answer any two questions.

 Each question carries 20 marks.

18. Describe the role and responsibilities of a Business

Economist.

J¸ ÁoP ö£õ¸Íõuõµ ]¢uøÚ¯õÍ›ß £[S ©ØÖ®

ö£õÖ¨¦UPøÍ ÂÁ›.

19. Explain the law of diminishing marginal utility.

SøÓ¢x öŒÀ CÖv{ø»¨ £¯ß£õmk Âvø¯

ÂÍUSP.
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***

20. Explain the criteria of a Good Forecasting technique.

J¸ ]Ó¢u •ßPo¨¦ ~m£zvß {£¢uøÚPøÍ

ÂÍUSP.

21. Explain the Laws of Return to scale.

£¸© ÂøÍÄ Âvø¯ ÂÍUSP.
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B.B.E. / B.A. DEGREE  EXAMINATION, APRIL 2011

First Semester

Economics/Economics/Vocational (Tourism)

BUSINESS STATISTICS—I

(Non-CBCS—2004 onwards)

[Common for B.B.E. / B.A. Tourism Management]

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (8 × 3 = 24)

Answer any eight questions.

All questions carry equal marks.

1. Define Statistics. Explain the characteristics of

Statistics.

¦ÒÎ°¯À Áøµ¯Ö ¦ÒÎ°¯¼ß SnõvŒ¯[PøÍ

ÂÍUSP.

2. Bring out the limitations of Statistics.

¦ÒÎ°¯¼ß SøÓ£õkPøÍU öPõnºP.

AFN-1395 BBE1M2/BTM1M2
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3. Describe the significance of sampling.

©õv›°ß •UQ¯zxÁzøu ÂÍUSP.

4. What is secondary data ?

Cµshõ® {ø» ¦ÒÎ Â£µ® GßÓõÀ GßÚ ?

5. How will you prepare a table ?

AmhÁønø¯ GÆÁõÖ u¯õº öŒ#Ãº ?

6. Discuss different methods of classification.

ÁøP¨£kzu¼ß £À@ÁÖ •øÓPøÍ ÂÁ›.

7. What are the tools required for making diagram ?

ÂÍUP¨ £h[PÒ u¯õ›UPz @uøÁ¯õÚ P¸ÂPÒ

¯õøÁ ?
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8. From the given information, compute harmonic mean.

85, 70, 10, 75, 500, 8, 42, 250, 40, 50.

R@Ç öPõkUP¨ £mh uPÁÀPÎ¼¸¢x Auß CøŒa

ŒµõŒ›ø¯U PõsP.

85, 70, 10, 75, 500, 8, 42, 250, 40, 50.

9. What is harmonic mean ?

CøŒa ŒµõŒ› GßÓõÀ GßÚ ?

10. How will you plan a statistical survey ?

¦ÒÎ°¯À B#øÁ GÆÁõÖ vmhªkÃº ?

11. Define Kurtosis. What does it measure ?

umøh AÍÄ C»UPn® u¸P. Ax GuøÚ AÍUQÓx?



4 AFN-1395

Section  B (3 × 12 = 36)

Answer any three questions.

All questions carry equal marks.

12. Discuss the nature and scope of statistics.

¦ÒÎ°¯¼ß ußø©²® Áµ®¦PøÍ²® ÂÁõvUP.

13. What is primary data ? Explain the methods of

collecting primary data.

•uÀ {ø» ÂÁµ[PÒ Gß£x ¯õx ? •uÀ {ø»

ÂÁµ[PøÍa @ŒP›¨£uØPõÚ •øÓPøÍ ÂÍUSP.

14. Describe the different types of graphs.

Áøµ£h[PÎß £À@ÁÖ ÁøPPøÍ ÂÍUS.
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15. Compute Quartile deviation and its coefficient from the

following data :–

Class interval : 4 – 7 8 – 11 12 – 15 16 – 19 20 – 23 24 – 27 28 –31 32 – 35 36 – 39

Frequency : 6 10 18 30 15 12 10 6 2

¤ßÁ¸® ÂÁµ[PÎ¼¸¢x PõÀ©õÚ Â»UPzøu²®,

Auß öPÊøÁ²® PnUQkP.

¤›Ä CøhöÁÎ : 4 – 7 8 – 11 12 – 15 16 – 19 20 – 23 24 – 27 28 –31 32 – 35 36 – 39

{PÌöÁs : 6 10 18 30 15 12 10 6 2

16. Calculate Karl Pearson’s coefficient of skewness for the

following data :–

Sl. No. : 1 2 3 4 5

Marks : 12 18 35 22 18
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¤ßÁ¸ÁÚÁØÔØS Põº» ¤¯ºŒÛß @PõmhU

öPÊøÁU PnUQkP.

Á.Gs : 1 2 3 4 5

©v¨ö£sPÒ : 12 18 35 22 18

17. Compute Geometric Mean from the following :

X : 140 150 160 170 180 180 190 200 210

Frequency : 7 13 6 14 12 8 11 9 10

R@Ç uµ¨£mh Â£µ[PÎ¼¸¢x ö£¸UQ ŒµõŒ› Psk

¤iUPÄ® :

X : 140 150 160 170 180 180 190 200 210

Aø»öÁs : 7 13 6 14 12 8 11 9 10
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Section C (2 × 20 = 40)

Answer any two questions.

All questions carry equal marks.

18. Describe the different methods of sampling. Write down

the merits and demerits.

©õv› Gkzu¼ß £À@ÁÖ •øÓPøÍ ÂÍUSP. ©õv›

Gkzu¼ß, |ßø© wø©PøÍ GÊxP.

19. Find the mean, median and mode from the following

data.

Age : 15 – 19 20– 24 25–29 30 – 34 35 – 39 40 –44

No. of. Persons : 4 20 38 24 10 9

RÌPsh £µÁ¾US TmkaŒµõŒ›, Cøh {ø» ©ØÖ®

•Pk BQ¯Ú PõsP.

Á¯x : 15 – 19 20– 24 25–29 30 – 34 35 – 39 40 –44

|£µPÎß

GsoUøP : 4 20 38 24 10 9
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20. Calculate a suitable measure of skewness for the

following data :

Class interval : below 10 10 – 20 20 – 30 30 – 40 above 40

Frequency : 5 18 23 40 8

¤ß Á¸® ÂÁµ[PÎ¼¸¢x Œ›¯õÚ @PõmhUÍ

öPÊøÁU PnUQkP.

¤›Ä CøhöÁÎ: 10US RÌ 10 – 20 20 – 30 30 – 40 40US @©À

{PÌöÁs : 5 18 23 40 8

21. Find the mean and standard deviation of the following

data :

Class interval : 0 – 5 5 – 10 10 – 15 15 – 20 20 – 25

Frequency : 7 8 25 30 20

RÌUPsh £µÁ¾US Tmka ŒµõŒ› ©ØÖ® vmh

Â»UP® PõsP.

¤›Ä CøhöÁÎ : 0 – 5 5 – 10 10 – 15 15 – 20 20 – 25

Aø»öÁs : 7 8 25 30 20

***



1 AFN-1397

B.A./B.B.E. DEGREE  EXAMINATION, APRIL 2011

Second Semester

Economics/Economics Vocational (Tourism)

BUSINESS ECONOMICS—II

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (8 × 3 = 24)

Answer any eight questions.
Each question carries 3 marks.

1. What is fixed  cost ? Give examples.

{ø»¯õÚ öŒ»Ä Gß£x ̄ õx ? Euõµn[PÒ u¸P.

2. Define Selling Cost.

ÂØ£øÚa öŒ»øÁ Áøµ¯Ö.

3. Give the meaning of normal price.

Œõuõµn Âø» Gß£uß ö£õ¸Ò u¸P.

AFN-1397 BBE2M1/
BTM2M1
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4. State the law of supply.

AÎ¨¦ Âvø¯U TÖP.

5. Mention any three features of monopoly

•ØÖ›ø©°ß H@uÝ® ‰ßÖ SnõvŒ¯[PøÍU
SÔ¨¤kP.

6. What is Oligopoly ?

]À@»õº •ØÖ›ø© Gß£x ̄ õx ?

7. What is monopolistic competition ?

•ØÖ›ø©¨ @£õmi Gß£x ̄ õx ?

8. State the two conditions for price discrimination.

Âø»¨ @£u[Põmh¾UPõÚ {£¢uøÚPÒ

CµsiøÚU TÖP.



3 AFN-1397

9. What is Price leadership ?

Âø»z uø»ø© Gß£x ̄ õx ?

10. Define price rigidity.

Âø» {ø»z ußø©ø¯ Áøµ¯Ö.

11. Give the meaning of pricing.

Âø»°h¼ß ö£õ¸Ò u¸P.

 Section B                    (3 × 12 = 36)

Answer any three questions.
Each question carries 12 marks.

12. Bring out the relationship between Average cost and

Marginal cost.

ŒµõŒ› öŒ»ÂØS®, CÖv {ø»a öŒ»ÂØS® Cøh@¯

EÒÍ öuõhºø£U öPõnºP.
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13. Draw supply curve and supply schedule  with an

illustration.

AÎ¨¦ @Põk ©ØÖ® AÎ¨¦ AmhÁønø¯ Áøµ¢x

ÂÍUSP.

14. Point out the features of perfect competition.

{øÓÄ¨ @£õmi°ß SnõvŒ¯[PøÍU SÔ¨¤kP.

15. What are wastes of monopolistic competition ?

•ØÖ›ø©¨ @£õmi°À ÃnõSuÀ Gß£x ̄ õx ?

16. Discuss the pattern of behaviour of  oligopoly markets.

]À@»õº •ØÖ›ø©a Œ¢øuPÎß |hzøu Aø©¨¦
•øÓø¯ ÂÁõv.
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17. Outline the objectives of pricing.

Âø»°h¼ß @|õUP[PøÍ @©Ø@Põimk PõmkP.

Section C                   (2 × 20 = 40)

Answer any two questions.
Each question carries 20 marks.

18. Show diagrammatically the nature of short run and

long run cost curves.

SÖQ¯ ©ØÖ® }sh Põ» öŒ»ÄU @PõkPÎß

C¯Àø£ Áøµ£hzxhß PõmkP.

19. Explain  price and output determination  under

monopoly.

•ØÖ›ø©°À Âø» ©ØÖ® EØ£zv

{ºn°UP¨£kÁøu ÂÍUSP.
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20. Critically examine kinked demand curve analysis.

v¸¨£•ØÓ @uøÁU @Põmk B#øÁ vÓÚõ#Ä öŒ#P.

21. Discuss in detail of any five pricing methods .

Âø»°kuÀ •øÓPÒ H@uÝ® I¢vøÚ Â›ÁõP

ÂÁõv.

***
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B.B.E./B.A. DEGREE  EXAMINATION, APRIL 2011

Second Semester

Business Economics/Economics Vocational
(Tourism)

BUSINESS STATISTICS—II

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (8 × 3 = 24)

Answer any eight questions.

1. What is Rank correlation ?

uµÁ›øŒ JmkÓÄ GßÓõÀ GßÚ ?

2. Explain the term correlation.

JmkÓÄ Gß£øu ÂÍUSP.

3. What is Regression ?

öuõhº¦ @£õUS GßÓõÀ GßÚ ?

AFN-1398 BBE2M2/
BTM2M2
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4. What is a  Scatter diagram ? State its uses.

]uÓÀ ÂÍUP¨£h® GßÓõÀ GßÚ ? Auß £¯ßPøÍ
GÊxP.

5. What is an Index Number ?

SÔ±möhs GßÓõÀ GßÚ ?

6. Write any three properties of regression lines.

öuõhº¦@£õUSU @PõkPÎß H@uÝ® ‰ßÖ

ußø©PøÍ GÊxP.

7. Explain the uses of time series.

Põ»® Œõº öuõhº Á›øŒ°ß £¯ßPøÍU TÖP.

8. Explain cyclical variations.

 ”ÇÀ ©õÖ£õkPÒ GßÓõÀ GßÚ ?

9. Explain the terms association and disassociation.

öuõhº¦ÒÍ ©ØÖ® öuõhº£ØÓ GßÓ £u[PøÍ

ÂÍUSP.
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10. Write and explain Fischer’s formula for ideal index
number.

¤å›ß SÔ±möhs ‹zvµzøu ÂÍUS.

11. Mention the types of correlation.

JmkÓÂß ÁøPPÒ öŒõÀ¾.

Section B                (3  × 12 = 36)

Answer any three questions.

12. Calculate Pearson’s coefficient of correlation from the

following data :

X : 45 55 56 58 60 65 68 70 75 80 85
Y : 56 50 48 60 62 64 65 70 74 82 90

PõºÀ ¤¯ºŒÛß JmkÓÄU öPÊÂøÚ PnUQkP.

X : 45 55 56 58 60 65 68 70 75 80 85
Y : 56 50 48 60 62 64 65 70 74 82 90
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13. The ranks of 10 students is two subjects, Accountancy

and Auditing are as follows :

Accountancy : 3 5 8 4 7 10 2 1 6 9
Auditing : 6 4 9 8 1 2 3 10 5 7

What is the coefficient of rank correlation ?

10 ©õnÁºPÎß Cµsk £õh[PÍõÚ, PnUQ¯À,

©ØÖ® uoUøP°¯¼À ö£ØÓ Â£µ[PøÍU öPõsk

uµÁ›øŒ JmkÓÂøÚU PõsP.

              : 3 5 8 4 7 10 2 1 6 9
 : 6 4 9 8 1 2 3 10 5 7

PnUQ¯À

uoUøP°¯À

14. The two equations for the regression lines are :

10x – 5y + 22 = 0

5x – 6y + 5 = 0

Compute (a) means of X and Y (b) correlation coefficient

between X and Y.
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C¸ Ehß öuõhº¦U @PõkPÎß Œ©ß£õkPÒ

10x – 5y + 22 = 0, 5x – 6y + 5 = 0 GÎÀ (A) X, Y&ß

ŒµõŒ› (B) X, Y&US Cøh@¯ BÚ JmkÓÄU öPÊøÁ

PõsP.

15. Fit a straight line trend to the following data by least
squares method and obtain the trend values. Also find

an estimate for the year 1997 :

Year         : 1989     1990     1991       1992 1993   1994

Production

(000 tonnes) :   12         13        13           16   19    23

   1995       1996

     21          23

SøÓ¢u ÁºUP •øÓ ‰»® J¸ @|º@Põmk¨ @£õUøP

ö£õ¸zxP, ©ØÖh© @£õUS ©v¨¦PøÍ²® PõsP.

@©¾® 1997&® Á¸hzvß ©v¨¥k PõsP.

Á¸h®        : 1989     1990     1991       1992 1993   1994

EØ£zv

(000 hßPÒ) :   12         13        13       16     19  23

  1995      1996

     21        23
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16. Compute Fisher’s Index Number from the following :

Commodity  Base Year Current Year

         Price    Quantity Price Quantity

 A ... 10 12 12 15

B ... 7 15 5 20

C ... 5 24 9 20

D ... 16 5 14 5

RÌUPõq® Â£µ[PÐUS ¤å›ß AÍÄ SÔ±mk
Gsøn PnUQkP.

ö£õ¸Ò     Ai¨£øh Bsk |h¨¦ Bsk

Âø»     AÍÄ Âø» AÍÄ

 A ... 10 12 12 15

B ... 7 15 5 20

C ... 5 24 9 20

D ... 16 5 14 5

17. Prepare a 2 × 2 table from the following information

and  calculate Yules coefficient of association and

interpret the result.

N = 1500, (A) = 1117, (B) = 360, (AB) = 35.
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öPõkUP¨£mh ÂÁµ[PÎ¼¸¢x 2 × 2 AmhÁøn

E¸ÁõUS, @©¾® ³@»ì @ŒºUøPU öPÊ Psk

¤izx wºøÁ ÂÍUQ TÖ.

N = 1500, (A) = 1117, (B) = 360, (AB) = 35.

Section C                (2  × 20 = 40)

Answer any two questions.

18. Find both the  regression lines from the following data :

X   :  1 2 3 4 5 6 7
Y   :  9 8 10 12 11 13 14

RÌPsh ÂÁµ[PÎ¼¸¢x Cµsk öuõhº¦ @£õUSU

@PõkPøÍ²® PõsP.

X   :  1 2 3 4 5 6 7
Y   :  9 8 10 12 11 13 14

19. Find Karl Pearson’s coefficient of correlation from the

following data :

Wage : 100 101 102 103 100 99 98 97 96 95
Cost of living : 98 99 99 97 95 92 95 94 90 91
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PõºÀ ¤¯ºŒÛß JmkÓÄUöPÊÂøÚ PnUQkP.

 : 100 101 102 103 100 99 98 97 96 95

 : 98 99 99 97 95 92 95 94 90 91

T¼

ÁõÌUøP öŒ»Ä

20. With the help of the following data construct Fisher’s

ideal Index Number and verify whether it satisfies

Factor Reversal test and Time Reversal test :

Commodity  Base Year Current Year

 Price    Quantity Price Quantity

        A    .. 7 4 10 9

        B    .. 6 3 5 5

        C    .. 5 4 8 6

        D    .. 8 2 7 4

RÌUPsh ÂÁµ[PÎß EuÂ²hß ¤å›ß ÂÊª¯

SÔ±möhsøn PnUQmk Ax Põ» ©õØÖa

@ŒõuøÚ ©ØÖ® Põµo ©õØÖa @ŒõuøÚø¯ {øÓÄ

öŒ#QÓuõ GÚ Œ› £õºUPÄ®.
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ö£õ¸Ò
 Ai¨£øh Bsk |h¨¦ Bsk

 AÍÄ     Âø»    AÍÄ     Âø»

       A     .. 7 4 10 9

        B    .. 6 3 5 5

        C    .. 5 4 8 6

        D    .. 8 2 7 4

21. Calculate the Seasonal indices from the following data

using average method :

     I       II         III      IV

Year   Quarter Quarter Quarter Quarter

      1974       ..  72  68   80  70

      1975       .. 76 70 82 74

      1976       .. 74 86 84 80

      1977       .. 76 74 84 78

      1978       .. 78 74 86 82
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Põ»USÔ±möhsPøÍ ŒµõŒ› •øÓø¯ E£@¯õQzxU

      PõsP :

         Á¸h®     •uÀ         Cµshõ®  ‰ßÓõ® | õ ß P õ ®

   Põ»õsk   Põ»õsk  Põ»õsk Põ»õsk

           1974       ..  72  68   80  70

      1975       .. 76 70 82 74

      1976       .. 74 86 84 80

      1977       .. 76 74 84 78

      1978       .. 78 74 86 82

***
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B.B.E. DEGREE  EXAMINATION, APRIL 2011

Second Semester

Business Economics

FINANCIAL ACCOUNTING—II

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Part A                  (8 × 3 = 24)

Answer any eight questions.
All questions carry equal marks.

1. Give the meaning of ‘Renewal of bill’.

©õØÖa^miøÚ ¦x¨¤zu¼ß ö£õ¸ÎøÚz u¸P.

2. What do you mean by Income and Expenditure

Account ?

Á¸Áõ# ©ØÖ® öŒ»ÂÚU PnUS £ØÔ }Âº AÔÁx

¯õx ?

AFN-1399    BBE2E1
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3. What is Single Entry System ?

JØøÓ¨£vÄ •øÓ GßÓõÀ GßÚ ?

4. Explain ‘Nominal Profit’.

‘@uõµõ¯ »õ£®’ ÂÍUSP.

5. What is Average Due Date ?

ŒµõŒ› uÁøn |õÒ GßÓõÀ GßÚ ?

6. State the meaning of  ‘Red Ink Interest’.

‘]P¨¦ø© Ámi’ ö£õ¸ÎøÚ GÊxP.

7. What is sale or return basis ?

ÂØ£øÚ (A) v¸¨£ Ai¨£øh GßÓõÀ GßÚ ?
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8. Write the formula for ‘Average Clause’.

 ŒµõŒ› åµzvøÚ Põq® ‹zvµzvøÚ GÊxP.

9. What are total accounts ?

ö©õzuU PnUSPÒ ̄ õøÁ ?

10. What is work certified ?

£o {øÓÄ GßÓõÀ GßÚ ?

11. From the following, find the claim to be submitted by

applying ‘Average Clause’.

Rs.

Policy amount ... 30,000

Actual Loss of Stock ... 40,000

Stock on the date of fire ... 64,000
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RÌPõq® Â£µ[PÎ¼¸¢x, ŒµõŒ› åµzvøÚ

E£@¯õQzx @PõµÀPÒ öuõøPø¯ ö£Ó Œ©º¨¤UP

@Ási¯ öuõøP°øÚU PnUQkP.

¹.

£õ¼]z öuõøP .. 30,000

ŒµUQ¸¨¤À Esø©¯õÚ |mh® .. 40,000

w Â£zx |õÎÀ ŒµUQ¸¨¦ .. 64,000

Part  B (3 × 12 = 36)

Answer any three questions.

Each question carries 12 marks.

12. What are accommodation bills ? Explain with an

illustration.

ÁŒv Esi¯ÀPÒ ¯õøÁ ? Kº Euõµnzxhß

ÂÍUSP.
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13. What is “Current Account” ? Explain the different

methods of  company interest.

|øh•øÓ PnUS GßÓõÀ GßÚ ? Ámi

PnUQkÁvÀ £À@ÁÖ •øÓPøÍ ÂÍUSP.

14. Describe the steps involved in recording sale or return

transactions under double entry system.

ÂØ£øÚ (A) v¸¨£® |hÁiUøPPøÍ Cµmøh£vÄ

•øÓ°ß RÌ £vÁuØPõÚ ÁÈ•øÓPøÍ ÂÁ›.

15. The following Receipts and Payments Account of a

sports club, for the year ending 31st December 2007 :

Receipts Rs. Payments Rs.

To balance b/d 5,000 By Sports equipment 7,000

To subscriptions : By Salaries & Wages 3,000

     For 2006 2,000 By Office expenses 400
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Rs. Rs.

    For 2007 10,000 By Electric charges 600

To Entrance fees 2,000 By Telephone charges 600

(to be capitalised) By bal C/d 7,400

———— ————
19,000 19,000

———— ————

(a) In the year 2006, subscription of Rs. 1,000 for 2007

was received.

(b) Outstanding subscription Rs. 1,500.

(c) Outstanding Salaries and wages Rs. 1,000.

(d) Depreciation to be charged @ 20 % on sports

equipment.

Prepare Income and Expenditure of the Club.
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31 iŒ®£º 2007 •i¯ EÒÍ J¸ ÂøÍ¯õmk ©Ú©QÌ

©ßÓzvß ö£ÖuÀPÒ ©ØÖ® öŒ¾zxuÀPÒ PnUS

R@Ç öPõkUP¨£mkÒÍÚ :

ö£ÖuÀPÒ ¹. öŒ¾zxuÀPÒ ¹.

C¸¨¦ R/öPõ 5,000 ÂøÍ¯õmk P¸Â 7,000

Œ¢uõUPÒ : Œ®£Í•® T¼²® 3,000

2006 US 2,000 A¾Á»Pa öŒ»ÄPÒ 400

2007 US 10,000 ªßŒõµ öŒ»ÄPÒ 600

~øÇÄUPmhn® 2,000 öuõø»@£] öŒ»ÄPÒ 600

(‰»uÚ©õUP @Ásk® ) C»µ R/S 7,400

———— ————

19,000 19,000

———— ————

(a) 2007 ® BsiØPõÚ Œ¢uõz öuõøP ¹. 1,000,

2006 ® BsiÀ ö£Ó¨£mhx.

(b) Œ¢uõ {¾øÁ ¹. 1,500.
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(c) Œ®£Í® ©ØÖ® T¼ {¾øÁ ¹. 1,000.

(d) ÂøÍ¯õmk P¸Â «uõÚ @u#©õÚ® 20 %

GÊu¨£h @Ásk®.

©Ú©QÌ©ßÓzvß Á¸Áõ# öŒ»ÂÚU PnUQøÚz

u¯õ›UP.

16. The following were the expenses on a contract which

commenced on1st January 2008.

Rs.

Material Purchased 20,000

Materials at the end 1,250

Direct wages 15,000

Plant issued 5,000

Direct expenses 8,000
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The contract price was Rs. 1,50,000. It was duly received

when the contract was completed on 30th September

2008. Charge indirect expenses at 15 % on wages and

provide Rs. 1,000 for depreciation on plant. Prepare the

Contract Account and Contractee’s account.

1, áÚÁ› 2008 öuõh[Q¯ J¸ K¨£¢uzvß

öŒ»ÄPÍx Â£µ[PÒ R@Ç öPõkUP¨£mkÒÍÚ.

¹.

‰»¨ö£õ¸Ò öPõÒ•uÀ öŒ#ux 20,000

‰»¨ö£õ¸Ò CÖv°¼¸¢ux 1,250

@|µiU T¼PÒ 15,000

ö£õÔ AÎzux 5,000

@|µia öŒ»ÄPÒ 8,000
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J¨£¢u Âø» ¹. 1,50,000 BS®. 30 ¢ @uv öŒ¨h®£º

2008 AßÖ £o •i¢uÄhß öuõøP •ÊÁx®.

•øÓ¨£i ö£Ó¨£mhx. T¼°ß «x ©øÓ•Pa

öŒ»ÄPÍõÚx 15% BS® ©ØÖ® ö£õÔ°ß «uõÚ

@u#©õÚ® ¹. 1,000 GÊu¨£mhx. J¨£¢uU PnUS

©ØÖ® J¨£¢u® AÎzuÁº PnUS BQ¯ÁØøÓ

u¯õ›UP.

17. M drew upon MN several bills of exchange due for

payment on different dates as under :

Date of bill Amount Tenure of the Bill

Rs.

2.10.2007 600 3 months

20.10.2007 800 2 months

10.11.2007 1,000 3 months

27.11.2007 750 3 months

8.12.2007 900 1 month

16.12.2007 1,200 2 months

Find out ‘Average Due Date’.
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M Gß£Áº MN «x £» ©õØÖa ^mkPøÍ GÊvÚõº.

Auß öŒ¾zxu¾UPõÚ £À@ÁÖ @uvPÒ R@Ç

EÒÍÚ.

©õØÖa^miß @uv öuõøP ©õØÖa^miß

(¹) Põ»®

2.10.2007 600 3 ©õu[PÒ

20.10.2007 800 2 ©õu[PÒ

10.11.2007 1,000 3 ©õu[PÒ

27.11.2007 750 3 ©õu[PÒ

8.12.2007 900 1 ©õu®

16.12.2007 1,200 2 ©õu[PÒ

ŒµõŒ› uÁøn |õøÍU PnUQkP.



12 AFN-1399

Part C (2 × 20 = 40)

Answer two questions.

Each question carries 20 marks.

18. Discuss the procedure to be adopted in the conversion

of the books maintained by single entry to double entry

system.

£µõ©›US® HkPøÍ JØøÓ £vÄ •øÓ°¼¸¢x

Cµmøh¨£vÄ •øÓUS ©õØÖ®@£õx ¤ß£ØÓEÒÍ

ÁÈ •øÓPøÍ ÂÁõv.

19. On 1st July 2007, Balu draws an accommodation bill

on Amar for Rs. 2,000 for 3 months period. Amar

accepted the bill. Balu discounted the bill at 6% p.a.

and gave half the proceeds to Amar. On maturity Balu

pays Rs. 1,000 to Amar and the bill is duly met.

Make the entries in the books of the parties to record

the above transactions.
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1, áüø» 2007 AßÖ J¸ ÁŒv Esi¯ø» ¹ 2,000

zvØS 3 ©õu Põ»[PÒ EÒÍøu £õ¾ Gß£Áº A©º

«x GÊxQÓõº. A©º A¢u ©õØÖa^miØS J¨¦uÀ

AÎzuõº. £õ¾ A¢u ©õØÖa^møh BsöhõßÖUS

6% Ámhx öŒ#x AzöuõøP°À £õvø¯ A©¸US

öPõkzuõº. öPk |õÎÀ £õ¾ ¹. 1,000 zøu A©¸US

öPõkzx A¢u ©õØÖa^mk •øÓ¨£i ©vUP¨£mhx.

@©¾ÒÍ |hÁiUøPPøÍ C¸ |£ºPÎß HkPÎ¾®

£vÄ öŒ#P.

20. Fire occurred in the premises of Mr. Z on 10th May 2008.

The following are the details from the year 2005 to 2008.

2005 2006 2007 2008

Rs. Rs. Rs. Rs.

Opening stock 16,000 15,000 16,000 18,000

Purchases 41,000 47,200 56,600 78,000

Sales 60,000 66,000 78,000 99,000

Closing stock 15,000 16,000 18,000 ?

The stock salvaged was Rs. 3,800. Compute the amount

of claim.
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10, @© 2008 AßÖ v¸. Z Gß£Á›ß ÁÍõPzvÀ w

Â£zx |h¢ux. 2005 •uÀ 2008 Áøµ°»õÚ Â£µ[PÒ

R@Ç EÒÍÚ :

2005 2006 2007 2008

¹. ¹. ¹. ¹.

Bµ®£ ŒµUQ¸¨¦ 16,000 15,000 16,000 18,000

öPõÒ•uÀ 41,000 47,200 56,600 78,000

ÂØ£øÚ 60,000 66,000 78,000 99,000

CÖv ŒµUQ¸¨¦ 15,000 16,000 18,000 ?

«mP¨£mh ŒµUQ¸¨¦ ¹. 3,800. @Põµ@Ási¯

öuõøPø¯ PnUQkP.
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21. From the following information, prepare all the

adjustment accounts under the self-balancing system.

Balance, 1st April 2008 : Rs. Rs.

Debtors 20,600 Cash paid to suppliers 15,600

Creditors 11,500 Bills payable issued 6,100

Credit sales for April 40,300 Discount received 400

Credit purchases for April 19,800 Bills receivable received 9,600

Cash received from customers 28,400 Amount received from

Bad debts written off 700 customers whose accounts

Charges debited to customers 150  were previously

Discount allowed to Debtors 1,400 written off 400
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uõ@Ú Œ›Pmk® •øÓ°ß RÌ AøÚzx Œ›Pmk

PnUSPøÍ²® RÌPõq® Â£µ[PÎ¼¸¢x u¯õ›UP.

C¸¨¦, 1, H¨µÀ 2008 : ¹. ¹.

PhÚõÎPÒ 20,600 ŒµUPÎzuÁ¸US öµõUP®

öŒ¾zv¯x 15,600

PhÜ¢@uõºPÒ 11,500 öŒ¾zuØSÔ¯

H¨µÀ ©õuzvß ©õØÖa^mk ÁÇ[Q¯x 6,100

 Phß ÂØ£øÚ 40,300 uÒÐ£i ö£ØÓx 400

H¨µÀ ©õuzvß ö£ÖuØS›¯ ©õØÖa^mk

Phß öPõÒ•uÀ 19,800 ö£ØÓx 9,600

ÁõiUøP¯õÍ›hª¸¢x •ßÚõÀ

ö£ØÓ öµõUP® 28,400 @£õUöPÊu¨£mh

ÁµõUPhßPÒ @£õUöPÊu¨£mhx 700 PnUQ¼¸¢x ÁõiUøP

ÁõiUøP¯º «x öŒ»ÄPÒ £ØöÓÊv¯x 150 ¯õÍ›h® ö£ØÓz öuõøP 400

PhÚõÎPÐUS uÒÐ£i AÎzux 1,400

***
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Third Semester

Business Economics/Economics Vocational
(Tourism)

 MONEY AND BANKING

(Common for B.B.E. and  B.A. Tourism M anagement)

[Non-CBCS]

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (8 × 3 = 24)

Answer any eight questions.

1. Explain the term Boney.

‘£n®’ GßÓ  £uzvøÚ ÂÍUSP.

2. What do you know about the term ‘Barter System’ ?

‘£sh©õØÖ •øÓ’ GßÓ £u® £ØÔ }Âº AÔÁx ̄ õx ?

3. What is  ‘near-money’ ?

£n® @£õßÓx GßÓõÀ GßÚ ?

AFN-1400 BBE3M1/
BTM3M1
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4. Explain the term ‘Paper Money’.

‘PõQu £n®’ GßÓ £uzvøÚ ÂÍUSP.

5. Write the Secondary functions of money.

£nzvß Cµshõ® {ø»¨£oPøÍ GÊxP.

6. Define a ‘Commercial Bank’.

J¸ ÁoP Á[Q°øÚ Áøµ¯Ö.

7. What is branch banking ?

QøÍ Á[Q°¯À GßÓõÀ GßÚ ?

8. Explain the term ‘Dear Money’.

 ‘©v¨¦£n®’ GßÓ £uzvøÚ ÂÍUSP.

9.  What is Debit Card ?

Phß Amøh GßÓõÀ GßÚ ?
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10. Explain the term lender of last resort.

‘Pøh]U PhÜ@Áõº’ GßÓ £uzvøÚ ÂÍUSP.

11. What is Credit creation ?

Phß E¸ÁõUSuÀ GßÓõÀ GßÚ ?

                                 Section B                  (3 × 12 = 36)

Answer any three questions.

12. Distinguish between Money, Income and Wealth.

£n®, Á¸©õÚ® ©ØÖ® öŒõzx CøÁPøÍ

JÆöÁõßÔ ¼¸¢x @ÁÖ£kzxP.

13. Why do we hold the money ?

|õ® Hß £nzøu øÁzv¸UQ@Óõ® ?
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14. Explain the Fisher’s equation theory.

¤å›ß Œ©ß£õmk @Põm£õmiøÚ ÂÍUSP.

15. Write the functions of a Commercial bank.

J¸ ÁoP Á[Q°ß £oPøÍ GÊxP.

16. Explain the traditional functions of  RBI.

C¢v¯ ›ŒºÆ Á[Q°ß ÁÇUP©õÚ £oPøÍ ÂÍUSP.

17. Explain the role of any four cards issued by the bank.

Á[Q¯õÀ öÁÎ°h¨£k® H@uÝ® |õßS

AmøhPÎß £oPøÍ GÊxP.

                                Section C                  (2 × 20 = 40)

Answer any two questions.

18. Analyse the features of different forms of money.

£À@ÁÖ ÁiÂ»õÚ £nzvß ußø©PøÍ B#P.
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19. Explain the Keyne’s Income theory.

Rßêß Á¸©õÚU @Põm£õmiøÚ ÂÍUSP.

20. Discuss the role of non-banking Financial Institutions

in developing a country’s economy.

J¸ |õmiß ö£õ¸Íõuõµzøu •ß@ÚØÖÁvÀ Á[Q

AÀ»õu {v {ÖÁÚ[PÎß £[QøÚ ÂÁõv.

21. Explain the merits and demerits of A.T.M.

uõÛ¯[Q £n® u¸® P¸Â°ß |ßø©PÒ ©ØÖ®

w[SPøÍ ÂÍUSP.

***
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B.B.E. DEGREE  EXAMINATION, APRIL 2011

Third Semester
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Ancillary—BUSINESS MATHEMATICS—I

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (8 × 3 = 24)

Answer any eight questions.

1. If  
log log log .

– – –
a b c

q r r p p q
  Prove that abc = 1.

log log log ,
– – –

a b c
q r r p p q

  GÛÀ abc = 1 GÚ {¹¤.

2. Simplify 
– 1 –1 –1

.
p q q r r pp q r

q r p

x x x
x x x

  
     
     
     

”¸USP : 
– 1 –1 –1

.
p q q r r pp q r

q r p

x x x
x x x

  
     
     
     

AFN-1401 BBE3A1
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3. A watch when sold for Rs. 240 yields a percentage profit

equal to the cost Price. Find its Cost Price.

J¸ PiPõµ® ¹. 240 US ÂØS® @£õx »õ£ ŒuÃu®

Auß AhUP Âø»USa Œ©©õQÓx GßÓõÀ Auß

AhUPÂø» GßÚöÁßÖ Psk¤i.

4. Find the point of inter section of the two-lines.

5 3 7, 3 – 4 10.x y x y  

5 3 7, 3 – 4 10x y x y   GßÓ @|ºU@PõkPÒ öÁmiU

öPõÒÐ® ¦ÒÎ°øÚU PõsP.

5.
2 4

A
6 8
 

  
 

find the transpose of the matrix A.

2 4
A

6 8
 

  
 

-&GÛÀ Cuß {µÀ, {øÓ ©õØÖ Aoø¯

Psk¤i.

6. Find the slope of – 5 8.y x 

– 5 8y x  GßÓ @|º@Põmiß Œõ#Ä PõsP.
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7. Find the rational number of 13, , 2 , 7.2

13, , 2 , 72 BQ¯øÁPÎÀ ÂQu•Ö Gs PõsP.

8. Find the value of log 2 2 2log log .bc ca ab
a b c

 

Log 2 2 2log logbc ca ab
a b c

   -&ß ©v¨¦ PõsP.

9. If  , 5, 7A 1, 3  , 6, 8B 2, 4  then A B = ?

 , 5, 7A 1, 3 ©ØÖ®  , 6, 8B 2, 4 Gß£x C¸ Pn[PÒ

GÛÀ A B = ?

10. If  , 5, 7, 9, 11,13, 15A 1, 3  find TA .

 , 5, 7, 9, 11, 13, 15A 1, 3 GÛÀ TA ß ©v¨ø£U PõsP.

11.  A B C ?  

 A B C ?  
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Section  B (3 × 12 = 36)

Answer any three questions.

12. I f   X 5, 6, 7, 8, 9,10  and f (x) = 2x + 4, then find

           5 , 6 , 7 , 8 , 9 , 10 .f f f f f f

 X 5, 6, 7, 8, 9,10  GÚÄ® f  (x) = 2x + 4, GÚÄ®

öPõkzuõÀ            5 , 6 , 7 , 8 , 9 , 10f f f f f f &ß

©v¨ø£U Põs.

13. Solve :

2 2 2

2 3 0
3 11

3 – 4 0

x y z
x y z

x y z

  

  
 

wºUP :

2 2 2

2 3 0
3 11

3 – 4 0

x y z
x y z

x y z

  

  
 
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14. (i) Find the equation to the line which passes through

(3, –2) and cut - off equal intercepts on the axes.

(ii) Find the equation of the straight  line through

(2, 5) and making equal intercepts of opposite sign

on the axes.

(i) Œ©öÁmkz xskPÒ öPõshx® (3, –2)  GßÓ

¦ÒÎ°ß ÁÈ¯õPa öŒÀ¾® @|º@Põmiß

Œ©ß£õk PõsP.

(ii) Œ©©õÚ GvºvøŒ öÁmkz xskPÒ öPõshx®

(2, 5) GßÓ ¦ÒÎ°ß ÁÈ¯õPa öŒÀ¾®

@|º@Põmiß Œ©ß£õk PõsP.

15. Find the inverse matrices.

@|º©õÖ AoPÒ PõsP :

2 4 6
A = 6 13 12

7 8 9

 
 
 
  

6 3 12
B = 6 8 7

0 1 2

 
 
 
  

.
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16. If the cost function  C x  of producing x quantities of a

product is given by   2C 500 2,500 5,000x x x   and

if each unit of the Product is sold at Rs. 6,000 then what

are BEP ?

x - - &ö£õ¸ÒPÎß u¯õ›¨¦a öŒ»Ä Œõº¦

  2C 500 2,500 5,000x x x   GßÖ®, JÆöÁõ¸

ö£õ¸Îß ÂØ£øÚ Âø» ¹. 6,000 GßÖ®

öPõkUP¨£mhõÀ, Œ©{Pº ¦ÒÎPøÍU Psk¤i.

17. If 21 ... ,x a a     21 ...y b b     and

1, 1.a b   Show that 2 21 ... .
– 1

xyab a b
x y

    


21 ... ,x a a     21 ...y b b      ©ØÖ®

1, 1,a b   GÛÀ 2 21 ...
– 1

xyab a b
x y

    


GÚU

PõmkP.
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Section C (2 × 20 = 40)

Answer any two questions.

18. The data below is about an economy of two industries

P and Q (1 unit = Rs. 00, 000).

Producer User Final demand Total output

P Q

P ... 10 25 15 50

Q ... 20 30 10 60

Determine the output when the final demand changes

to 35 for P and 21 for Q.

{ÖÁÚ[PÒ P ©ØÖ® Q-Âß EØ£zv²® Auß

@uøÁPÐ®, A¢{ÖÁÚ[PÎß öÁÎaŒ¢øu

@uøÁPÐ® (1 A»S = ¹.  00, 000) :

{ÖÁÚ® {ÖÁÚzvß öÁÎaŒ¢øu°ß ö©õzu

@uøÁ @uøÁ u ȭ›¨¦

P Q

P ... 10 25 15 50

Q ... 20 30 10 60
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öÁÎaŒ¢øu°ß @uøÁPÒ P {ÖÁÚzvØS 35

BPÄ®, Q&US 21 BPÄ® E¯¸®@£õx, {ÖÁÚ[PÎß

ö©õzu u¯õ›¨ø£ PoUPÄ®.

19. Solve by using matrix method :

AoPøÍ¨ £¯ß£kzv wºUP :

5 – 6 4 15
7 4 – 3 19
2 6 46.

x y z
x y z
x y z

 
 
  

20. Find the differential co-efficient :

5 4 3
2 5

3 5 77 9 – 7 11 –x x x
x x x

   

ÁøPUöPÊ Põs :

5 4 3
2 5

3 5 77 9 – 7 11 –x x x
x x x

   
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21. (i) 1

2

1 3 5
A , , B , AX = B

4 2 10
x
x
    

      
    

find X.

(ii) Find the adjoint matrix of A if 
1 0 1

A = 0 2 2 .
0 3 1

 
 
 
  

(iii) Solve : 2 2 89, 2 3 34.x y x y   

(i) 1

2

1 3 5
A , , B , AX = B

4 2 10
x
x
    

      
    

GÛÀ X &I

PõsP.

(ii)

1 0 1
A = 0 2 2

0 3 1

 
 
 
  

GÛÀ A -&°ß @Œº¨¦ Ao PõsP.

(iii) wº : 2 2 89, 2 3 34.x y x y   

***
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FISCAL ECONOMICS
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Time : 3 Hours Maximum : 100 Marks

                                Section A                  (8 × 3 = 24)

Answer any eight questions.

1. Define Fiscal Economics.

{v°¯À ö£õ¸Î¯À Áøµ¯Ö.

2. Distinguish between progressive and Regressive rates

of taxation.

ÁÍºÃu Á›. @u#ÄÃu Á›©õØÔUS® EÒÍ

@ÁÖ£õiøÚ TÖP.

3. What is Public expenditure ?

ö£õx öŒ»ÂÚ® GßÓõÀ GßÚ ?

AFN-1402 BBE431
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4. What are the sources of non-tax revenue ?

Á› AØÓ Á¸Áõ# ‰»[PÒ ̄ õøÁ ?

5. What are the installments of  fiscal policy ?

{vU öPõÒøP°ß P¸ÂPÒ ̄ õøÁ ?

6. What is meant by direct tax ?

@|º •PÁ› GßÓõÀ GßÚ ?

7. Why do public debts  increase in modern time ?

|ÃÚ |õ»zvÀ ö£õx PhßPÒ Hß AvP›UQßÓx ?

8. State the various types of budget.

ÁµÄ&öŒ»Ä vmhzvß £À@ÁÖ ÁøPPøÍ TÖP.
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9. What are the urban local bodies in India.

|Pµ EÒÍõm] Aø©¨¦PÒ ̄ õøÁ ?

10. What are the measured adopted for controlling public
expenditure in India ?

Aµ” öŒ»ÂÚzøu Pmk£kzxuØPõÚ |hÁiUøPPÒ
¯õøÁ ?

11. What are the three main functions of budget policy ?

ÁµÄ&öŒ»Ä vmhzvß •UQ¯ ‰ßÖ öŒ¯À£õkPÒ

¯õøÁ ?

Section B                    (3 × 12 = 36)

Answer any three questions.

12. Compare private and public finance.

uÛ¯õº {vø¯²®, ö£õx {vø¯²® J¨¤kP.
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13. Examine the effects of Public expenditure on

production.

EØ£zv¯õÍº @©À EÒÍ ö£õx ÂøÍÄPøÍ Bµõ#P.

14. Explain Adam Smith’s canon of taxation.

Bh® ìªzvß Á› öPõÒøPø¯  ÂÍUS.

15. Describe the merits and demerits of direct tax.

@|º•P Á›°ß |ßø©, wø©PøÍ ÂÁ›.

16. What are the causes for the growth of public
expenditure.

ö£õx öŒ»Âß ÁÍºa]UPõÚ Põµn[PÒ ̄ õøÁ ?

17. Explain the sources of local finance.

EÒÍõm] {v°ß Á¸Áõ# ‰»[PøÍ ÂÁ›.
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Section C                    (2 × 20 = 40)

Answer any two questions.

18. Explain the methods of debt redemptions.

PhøÚ v¸¨¤ öŒ¾zx® •øÓPøÍ ÂÁ›.

19. Explain the role of indirect taxes in developing

countries.

ÁÍº¢x Á¸® |õkPÎÀ ©øÓ•P Á›PÎß £[QøÚ

ÂÁ›.

20. What are the objectives and effects of  deficit financing ?

£ØÓõSøÓ {v°ß öPõÒøPPÒ, ÂøÍÄPÒ ̄ õøÁ ?

21. Discuss the recommendations of Twelfth Finance

Commission.

£ßÛµshõÁx {vSÊÂß £›¢xøµPøÍ ÂÁõv.

***
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B.B.E. DEGREE  EXAMINATION, APRIL 2011

Fourth Semester

Business Economics

MARKETING MANAGEMENT

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (8 × 3 = 24)

Answer any eight questions.

1. Define ‘Consumer behaviour’.

‘~Pº@Áõº |hzøu’ Áøµ¯Ö.

2. What are buying motives ?

Áõ[S® E¢xuÀPÒ ̄ õøÁ ?

3. What is Consumer decision making ?

~Pº@Áõº •iöÁkzuÀ GßÓõÀ GßÚ ?

AFN-1403 BBE432
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4. Explain ‘Product Modification’ ?

 ‘ö£õ¸øÍ Œ› öŒ#uÀ’ ÂÍUSP ?

5. What is Brand Name ?

Aøh¯õÍªh¼ß ö£¯º GßÓõÀ GßÚ ?

6. Write the meaning of  ‘Packing’.

Pmk©® Gß£uß ö£õ¸ÎøÚ GÊxP.

7. Who is a retailer ?

]À»øÓ Â¯õ£õ› Gß£Áº ̄ õº ?

8. What do you mean by Vertical marketing system ?

 öŒ[Szx Œ¢øu°¯À •øÓ¨ £ØÔ }Âº AÔÁx ̄ õx ?
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9. Define ‘Advertising’.

‘ÂÍ®£µ®’ Áøµ¯Ö.

10. Write a note a ‘Media selection’.

‘FhP @uºÄ öŒ#uÀ’ £ØÔ¯ SÔ¨¦ ÁøµP.

11. State any three objectives of Sales Promotion.

ÂØ£øÚ @©®£õmk @|õUP[PÎÀ H@uÝ®

‰ßÔøÚU TÖP.

Section  B (3 × 12 = 36)

Answer any three questions.

12. Define Marketing. Explain its nature and  scope.

Œ¢øu°¯À Áøµ¯Ö. Auß C¯À¦PÒ ©ØÖ®

Áøµö¯Àø»ø¯ ÂÍUSP.
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13. What is Market Segmentation ? State its merits and

demerits.

Œ¢øu £õS£õk GßÓõÀ GßÚ ? Auß |ßø©PÒ

©ØÖ® wø©PøÍU TÖP.

14. Enumerate the various stages in the ‘New Product

Development’.

¦v¯ ö£õ¸Ò ÁÍºa]°ß £À@ÁÖ {ø»PøÍ

GkzxøµUP.

15. What is ‘Branding’ ? Distinguish it from packaging.

Áõo£ Aø©¯õÍªhÀ GßÓõÀ GßÚ ?

Pmk©õÚzv¼¸¢x CuøÚ @ÁÖ£õkzxP.
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16. Define ‘Wholesaling’. Explain its functions.

‘ö©õzu Â¯õ£õµ®’ Áøµ¯Ö. Auß £oPøÍ ÂÍUSP.

17. Describe the limitations of Advertising.

ÂÍ®£µzvß wø©PøÍ ÂÁ›.

Section C (2 × 20 = 40)

Answer any two questions.

18. Discuss the role of marketing with special reference to

India.

SÔ¨£õP C¢v¯õøÁ ö£õÖzuÁøµ Œ¢øu°¯¼ß

£[QøÚ ÂÁõv.
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19. Explain in detail the various steps in the consumer

decision making.

~Pº@Áõº •iöÁkzu¼ß £À@ÁÖ {ø»PøÍ

Â›ÁõP ÂÍUSP.

20. Define ‘Channels of Distribution’. Describe the factors

to be considered in selection of Channels of distribution.

‘ÁÇ[PÀ ÁÈ•øÓ’ Áøµ¯Ö. ÁÇ[PÀ ÁÈ•øÓ°øÚ

@uºÄ öŒ#¯ {ºn°US® PõµoPøÍ ÂÁ›.

21. Discuss the various tests used to measure the

effectiveness of advertising.

ÂÍ®£µ öŒ¯ÀvÓøÚ AÍÂk® £À@ÁÖ

@ŒõuøÚPøÍ ÂÁõv.

***
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B.B.E. DEGREE  EXAMINATION APRIL 2011

Fourth Semester

Business Economics

Ancillary—BUSINESS MATHEMATICS—II

(Non CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (8 × 3 = 24)

Answer any eight questions.

1. Derive the Differential Quotient rule.

ÁøPUöPÊÂß ÁSzuÀ Âvø¯ GÊxP.

2. Find out the differential Co-efficient of the function

y = ex.

y = ex GßÓ Œõº¤ØS ÁøPUöPÊ Põs

AFN- 1404 BBE4A1
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3. Find out the differential Co-efficient of function

y = 2x3 + cos x.

y = 2x3 + cos x GßÓ Œõº¦US ÁøPUöPÊøÁ

Psk¤i.

4. What is the Total Cost ?

ö©õzu ŒµõŒ› GßÓõÀ GßÚ ?

5. If y = log (sinx) find 
dy
dx

y = log (sinx) GÛÀ 
dy
dx  IU PõsP.

6. What is the Production Equilibrium ?

EØ£zv Œ©{ø» Gß£x GßÚ ?

7. If F (x.y) = 6x2 + 5xy + 2 find df
dx and 

df
dy

F = (x.y) = 6x2 + 5xy + 2 GÛÀ df
dx ©ØÖ® 

df
dy IU

PõsP.
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8. What is the Cost minimization ?

 AhUP öŒ»øÁ SøÓ¨£x Gß£x GßÚ ?

9. If x = 2t : 22 dyy t find
dx



x = 2t : 22y t GÛÀ 
dy
dx  IU PõsP.

10. What is mean by maximum ?

«¨ö£¸ Gß£x GßÚ ?

11. What are the uses of linear programming ?

ö£õ¸Î¯À @|º@Põmk vmhªku¼ß £¯ß

GßÚ ?
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Section  B (3 × 12 = 36)

Answer any three questions.

12. If 
 2

2 2

2x
y

a x





 find 
dy
dx

 2

2 2

2x
y

a x





 GÛÀ 
dy
dx  I PõsP.

13. If y = x2 cos 3x find 
2

2

d y
dx

y = x2 cos 3x GÛÀ 
2

2

d y
dx

 I PõsP.

14. The Total Cost Function C of manufacturing a certain

article is given by the formula, 2108C 25 2x
x

  

where x is the number of articles manufactured, find

the minimum value of C.
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J¸ ö£õ¸Îß EØ£zv AhUPÂø» Œõº¦ ¤ß

Á¸©õÖ öPõkUP¨£mkÒÍx. CaŒõº¤À x Gß£x

EØ£zv A»SPÒ, Œõº¤ß «a]Ö ©v¨ø£U PõsP

2108C 25 2x
x

   .

15. If Z = x3+ xy2 + y3 prove that 3dz dzx y z
dx dy

 

Z = x3+ xy2 + y3 GÛÀ 3dz dzx y z
dx dy

  GÚa

Œ›£õºUPÄ®.

16. If Z = 3xy – y3 +  
3

2 22y x  prove that 
2 2d z d z

dx dy dy dx


and also prove that 

22 2 2

2 2

d z d z d z
dx dy dx dy

 
   

 

Z = 3xy – y3 +  
3

2 22y x  GÛÀ  
2 2d z d z

dx dy dy dx
  ©ØÖ®
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22 2 2

2 2

d z d z d z
dx dy dx dy

 
   

 
GÚ {ÖÄP.

17. Solve the following L.P.P by graphical method.

Maximize

Z 3 2
1
3

, 0

x y
x y
x y

x y

 
 
 



subject to

RÌUPsh L.P.P  I Áøµ£h® ‰»® wºUP.

 «mö£¸ Z 3 2x y 

Pmk¨£õk 1
3

, 0

x y
x y

x y

 
 


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Section C (2× 20 = 40)

Answer any two questions.

18. If  
 

2

log 3 4
4 5 9

x
y

x x



   find 

dy
dx

 
2

log 3 4
4 5 9

x
y

x x



   GÛÀ 

dy
dx  I PõsP.

19. If  
2

2

1
1

xy
x




  find 
dy
dx

2

2

1
1

xy
x




  GÛÀ  
dy
dx  I PõsP

20. Find the maximum and minimum of functions

y = x5 – 5x4 + 5x3 – 1

y = x5 – 5x4 + 5x3 – 1  GßÓ Œõº¤ØS «¨ö£¸ «a]Ö

©v¨ø£U PõsP.
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21. Solve the following LPP

Maximize

Z 35 80

3 150
0

x y
x y
x y
x y

x y

 



 
 

subject to + 5 150
+ 2 90

RÌUPsh  L.P.P I Áøµ£h® ‰»® wºUP

«¨ö£¸ Z 35 80x y 

Pmk¨£õk 

3 150
0

x y
x y
x y

x y




 
 

+ 5 150
+ 2 90

***
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B.B.E. DEGREE  EXAMINATION, APRIL 2011

Fifth Semester

Business Economics

MACRO ECONOMICS

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (8 × 3 = 24)

Answer any eight questions.

Each question carries 3 marks.

1. What is circular flow of Income ?

Á¸©õÚ ”ÇÀ Kmh® GßÓõÀ GßÚ ?

2. What do you mean by National Income ?

@u]¯ Á¸©õÚ® GßÓõÀ GßÚ ?

3. Define Aggregate Supply.

ö©õzu AÎ¨ø£ Áøµ¯ÖUPÄ®.

AFN-1405 BBE531
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4. What is meant by Consumption Function ?

~PºÄa Œõº¦ GßÓõÀ GßÚ ?

5. Define the term ‘Multiplier’.

‘ö£¸UQ’ — Áøµ¯Ö.

6. Give the meaning of Trade Cycle.

Áõo£a ”Ç¼ß ö£õ¸øÍz u¸P.

7. State the meaning of Inflation.

£nÃUP® Gß£uß ö£õ¸øÍz u¸P.

8. Write a short note about ‘Demonstration Effect’.

 Enºa] öÁÎ¨£õmk ÂøÍÄ SÔzx ]Ö SÔ¨¦

ÁøµP.
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9. Give the meaning of Income Policy.

Á¸©õÚU öPõÒøP°ß ö£õ¸øÍz u¸P.

10. Define ‘Monetary Policy’.

 ‘£nU öPõÒøPø¯’ Áøµ¯ÖUPÄ®.

11. Synthesise the leakages of Multiplier.

ö£¸UQ P]øÁ ÁøP¨£kzxP.

Section  B (3 × 12 = 36)

Answer any three questions.

Each question carries 12 marks.

12. Analyse the difference between Micro Economics and

Macro Economics.

~so¯À ö£õ¸ÍõuõµzvØS®, @£›¯À

ö£õ¸ÍõuõµzvØS® Cøh@¯¯õÚ @ÁÖ£õkPøÍ

Bµõ#P.
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13. Explain the difficulties in calculating National Income.

@u]¯ Á¸©õÚ® PnUQku¼À EÒÍ ¤µa]øÚPøÍ

ÂÍUSP.

14. Synthesise the factors determining consumption

function.

~PºÄa Œõºø£ {ºn°US® PõµoPøÍ

ÁøP¨£kzxP.

15. Discuss the factors affecting investment.

‰»uÚzøu £õvUS® PõµoPøÍ ÂÁõvUPÄ®.

16. Evaluate different phases of Trade Cycle.

Áõo£a”Ç¼ß £À@ÁÖ {ø»PøÍ ©v¨¤kP.
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17. Explain De-flationary Gap.

£nÁõmh CøhöÁÎø¯ ÂÍUSP.

Section C (2 × 20 = 40)

Answer any two questions.

Each question carries 20 marks.

18. Analyse the different methods of measuring National

Income.

@u]¯ Á¸©õÚ® PnUQku¼ß £À@ÁÖ •øÓPøÍ

Bµõ#P.

19. Critically evaluate the Keynesian Theory of

Employment.

Rßêß @Áø» Áõ#¨¦U @Põm£õmøh Auß

SøÓPøÍa ”miUPõmi ©v¨¤kP.
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20. Discuss Demand–pull and Cost–Push Inflation.

@uøÁ CÊ ©ØÖ® öŒ»Ä uÒÐ £nÃUPzøu

ÂÁõvUPÄ®.

21. Describe the various methods of controlling Trade Cycle.

Áõo£a ”ÇÀ Pmk¨£kzx® £À@ÁÖ •øÓPøÍ

ÂÁ›.

***
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B.B.E. DEGREE  EXAMINATION, APRIL 2011

Fifth Semester

Business Economics

INDIAN ECONOMY—I

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (8 × 3 = 24)

Answer any eight questions.

1. Define under development.

¤ß u[Q¯ ö£õ¸Íõuõµ ÁÍºa] Áøµ¯Ö.

2. What is meant by Mixed Economy ?

P»¨¦ ö£õ¸Íõuõµ® GßÓõÀ GßÚ ?

3. What is Capital Formation ?

‰»uÚ BUP® GßÓõÀ GßÚ ?

AFN-1406 BBE532
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4. Define Physical Capital.

£¸¨ö£õ¸Ò ‰»uÚ® Áøµ¯Ö.

5. What is meant by density of population ?

©UPÒ öuõøP Ahºzv GßÓõÀ GßÚ ?

6. Define Poverty.

ÁÖø© Áøµ¯Ö.

7. Explain inequalities of income.

Á¸©õÚ HØÓzuõÌøÁ ÂÍUSP.

8. What is Cyclical Unemployment ?

 ”ÇØ] @Áø»°sø© GßÓõÀ GßÚ ?
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9. Define Green Revolution.

£”ø© ¦µm] Áøµ¯Ö.

10. What is Industrial Policy ?

öuõÈØ öPõÒøP GßÓõÀ GßÚ ?

11. What is meant by small scale industry ?

]Ö µP öuõÈÀ GßÓõÀ GßÚ ?

Section  B (3 × 12 = 36)

Answer any three questions.

12. What are the features of underdeveloped economy ?

¤ß u[Q¯ ö£õ¸Íõuõµzvß C¯À¦PÒ ̄ õøÁ ?
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13. What are the causes for low capital formation ?

SøÓÁõÚ ‰»uÚ BUPzvØPõÚ Põµn[PÒ ̄ õøÁ?

14. Discuss the features of India’s Population.

C¢v¯ ©UPÒ öuõøP°ß C¯À¦PøÍ ÂÁ›.

15. What are the causes for Poverty in India ?

C¢v¯õÂÀ ÁÖø©UPõÚ Põµn[PÒ ̄ õøÁ ?

16. Explain the role of Agriculture in Indian Economy.

C¢v¯ ö£õ¸ÍõuõµzvÀ @ÁÍõsø©°ß £[øP

ÂÍUSP.
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17. Explain the different types of Unemployment.

£À@ÁÖ ÁøP¯õÚ @Áø»°ßø©ø¯ ÂÍUSP.

Section C (2 × 20 = 40)

Answer any two questions.

18. Describe the important poverty alleviation

programmes.

•UQ¯ ÁÖø© JÈ¨¦ vmh[PøÍ ÂÍUSP.

19. Explain the various causes of unemployment in India.

C¢v¯õÂÀ @Áø»°ßø©UPõÚ £À@ÁÖ

Põµn[PøÍ ÂÍUSP.
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20. Discuss the role of small scale industries in Indian

Economy.

C¢v¯ ö£õ¸ÍõuõµzvÀ ]Ö öuõÈÀPÎß £[øP

ÂÁ›.

21. What are the causes for low productivity in

Agriculture ?

@ÁÍõsø©°À SøÓ¢u EØ£zv vÓÝUS›¯

Põµn[PÒ ̄ õx ?

***



1 AFN-1408

B.B.E. DEGREE  EXAMINATION, APRIL 2011

Fifth Semester

Business Economics

Ancillary—Optional—FUNDAMENTALS OF
COMPUTERS

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Part A (8 × 3 = 24)

Answer any eight questions.

1. Give any three reasons for using Computers.

Po¨ö£õÔø¯ E£@¯õQ¨£uØS H@uÝ® ‰ßÖ

Põµn[PøÍ TÖP.

2. Define Software.

ö©ßö£õ¸Ò—Áøµ¯Ö.

3. Give the expansion for BASIC.

BASIC—ß •Ê öuõh›øÚ GÊx.

AFN-1408 BBE5E1
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4. Mention any three High level Languages.

H@uÝ® ‰ßÖ E¯º{ø» ö©õÈPÎß ö£¯ºPøÍ

GÊxP.

5. Define Variables.

©õÔPÒ Áøµ¯Ö.

6. How to use PRINT statement ?

PRINT—ÁõUQ¯zøu GÆÁõÖ £¯ß£kzxÁx ?

7. What is the purpose of using DIM statement ?

DIM-ÁõUQ¯zøu GuØPõP £¯ß£kzxQ@Óõ® ?

8. Define File.

@Põ¨¦ C»UPn¨£kzxP.
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9. How do define an array ?

Á›øŒPøÍ GÆÁõÖ ÂÁ›¨£x ?

10. How files are classified ?

@Põ¨¦PÒ GÆÁõÖ ÁøP¨£kzu¨£kQÓx ?

11. Give the usage of IF statement.

IF-ÁõUQ¯zvß £¯ß£õmiøÚ GÊxP.

Part B (3 × 12 = 36)

Answer any three questions.

12. How High level Languages are better than Low Level

Languages ?

E¯º{ø» ö©õÈ GÆÁõÖ uõÌ¢u {ø» ö©õÈPøÍU

Põmi¾® @©®£kQÓx ?

13. Write short notes on BASIC program.

@£êU {µ¼ø¯¨ £ØÔ GÊxP.
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14. Give the difference between GOTO and ON GOTO

statement.

GOTO ÁõUQ¯zøu²® ON GOTO ÁõUQ¯zøu²®

@ÁÖ£kzv PõmkP.

15. Write a program to add two numbers.

Cµsk GsPøÍ TmkÁuØPõÚ {µ¼ JßøÓ

GÊxP.

16. How do use GOSUB statement ?

GOSUB  ÁõUQ¯zøu GÆÁõÖ £¯ß£kzxÁx ?

17. Give an example for FOR and NEXT statement and

explain its execution.

FOR  ©ØÖ® NEXT ÁõºzøuPÎß Euõµnzøu TÔ

Auß öŒ¯À£õmiøÚ GÊxP.
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Part C (2 × 20 = 40)

Answer any two questions.

18. Explain the working style of a computer.

Po¨ö£õÔ öŒ¯À£k® •øÓø¯ ÂÍUSP.

19. Mention the uses of Computers.

Po¨ö£õÔ°ß £¯ßPøÍ TÖP.

20. Write a program to multiply two matrices.

Cµsk Gs Á›øŒ AoPøÍ ö£ÖUSÁuØS {µ¼

JßøÓ GÊxP.

21. Write a program to print the sequence

0, 1, 1, 2, 3, 5, 8 .......

0, 1, 1, 2, 3, 5, 8 ....... GßÓ GsPøÍ Á›øŒ¨ £kzv

¤›sm öŒ#¯ {µ¼ JßøÓ GÊxP.

***
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B.B.E./B.A DEGREE  EXAMINATION, APRIL 2011

Sixth Semester

Business Economics/Economics Vocational

(Tourism)

INDIAN ECONOMY—II

[Common for B.B.E. / B.A. Tourism Management]

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A (8 × 3 = 24)

Answer any eight questions.

All questions carry equal marks.

1. What are the objectives of Public Sector ?

ö£õxz xøÓ°ß @|õUP[PÒ ̄ õøÁ ?

2. Explain Privatisation.

uÛ¯õº ©¯©õUPÀ—ÂÍUSP.

3. What are the problems of Foreign Aid ?

A¯À|õmkEuÂ ö£ÖÁvÀ EÒÍ ¤µa]øÚPÒ

¯õøÁ ?

AFN-1410 BBE6M1/BTM6M1
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4. Explain the significance of Foreign Capital.

A¯À|õmk ‰»uÚzvß •UQ¯zxÁzøu ÂÍUSP.

5. Point out the factors affecting exports.

HØÖ©vø¯¨ £õvUS® PõµoPøÍ SÔ¨¤kP.

6. Write a note on Balance of payments.

A¯À|õmk öŒ¾zx {ø» £ØÔ J¸ SÔ¨¦ GÊxP.

7. Mention the principal Commodities of India’s export.

C¢v¯õÂß •UQ¯ HØÖ©v¨ ö£õ¸mPøÍ SÔ¨¤kP.

8. Write a note on World Trade organisation.

 E»P ÁºzuP Aø©¨¦ £ØÔ J¸ SÔ¨¦ GÊxP.

9. What are the features of New Economic Policy ?

¦v¯ ö£õ¸Íõuõµ öPõÒøP°ß ußø©PÒ ̄ õøÁ ?
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10. What is “Second Generation Reforms” ?

“Cµshõ® uø»•øÓ ̂ ºv¸zu®” GßÓõÀ GßÚ ?

11. What are the objectives of India’s Economic

Planning ?

C¢v¯ ö£õ¸Íõuõµ vmhzvß •UQ¯ @|õUP[PÒ

¯õøÁ ?

Section  B (3 × 12 = 36)

Answer any three questions.

All questions carry equal marks.

Answer to each question in about 600 words.

12. Explain the objectives and methodology of

Disinvestment Policy.

•u½mk £[S Â»UPÀ öPõÒøP°ß

@|õUP[PøÍ²® Auß •øÓ¯õUPzvøÚ²® ÂÍUSP.
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13. Describe the problems of Foreign capital. Also mention

the forms of Foreign capital.

A¯À|õmk ‰»uÚzvß ÁøPPøÍ²® ]µ©[PøÍ²®

ÂÍUSP.

14. Discuss India’s Balance of payment position after 1990.

1990&® BsiØS¤ß C¢v¯õÂß A¯À|õmka

öŒ¾zx {ø»ø¯¨ £ØÔ ÂÁõvUPÄ®.

15. Explain the impact of World Trade Organisation of

Agriculture in India.

E»P ÁºzuP {ÖÁÚzvÚõÀ C¢v¯ @ÁÍõs

xøÓ°À HØ£mkÒÍ ÂøÍÄPøÍ ÂÍUSP.

16. Critically evaluate New Economic policy.

¦v¯ ö£õ¸Íõuõµ öPõÒøP°øÚ ©v¨¤kP.
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17. What are the Pre requisites of successful planning ?

öÁØÔPµ©õÚ vmhzvØPõÚ •ß Tmi¯ @uøÁPÒ

¯õøÁ ?

Section C (2 × 20 = 40)

Answer any two questions.
All questions carry equal mark.

Answer each question in about 1,000 words.

18. Examine the causes for the growth of Public Sector in

India.

C¢v¯õÂÀ ö£õxzxøÓ {ÖÁÚ[PÎß ÁÍºa]UPõÚ

Põµn[PøÍ Bµõ#P.

19. Analyse the role of EXIM Bank in India’s Foreign

Trade.

C¢v¯ A¯À|õmk Áõo£zvÀ EXIM  Á[Q°ß

£[QøÚ Bµõ#P.
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20. Explain the objectives and functions of World Trade

Organisation.

E»P ÁºzuP Aø©¨¦ {ÖÁÚzvß @|õUP[PøÍ²®

£oPøÍ²® ÂÍUSP.

21. Critically evaluate the Tenth Five Year Plan.

£zuõÁx I¢uõsk vmhzvß öŒ¯À£õkPøÍ

©v¨¤kP.

***
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B.B.E. DEGREE  EXAMINATION, APRIL 2011

Sixth Semester

Business Economics

INTERNATIONAL ECONOMICS

(Non-CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

                                Section A                  (8 × 3 = 24)

Answer any eight questions.
All questions carry equal marks.

Answer to question in about 150 words each.

1. What is International trade ?

£ßÚõmk Áõo£® GßÓõÀ GßÚ ?

2. What is the law of comparative advantage ?

J¨¤mka öŒ»ÄU @Põm£õk GßÓõÀ GßÚ ?

3. What do you understand by factor abundance ?

Põµo ªS¢x Põn¨£hÀ Gß£uß ö£õ¸Ò GßÚ ?

AFN-1411 BBE632
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4. What is free trade ?

uøh°»õ Áõo£® Gß£x GßÚ ?

5. How does deflation help in increasing exports ?

£nÁõmh® GÆÁõÖ HØÖ©v AvP›¨£uØS EuÂ

öŒ#QÓx ?

6. What is arbitrage ?

Âø» @ÁØÖø© Áõo£® GßÓõÀ GßÚ ?

7. What is tariff ?

Põ¨¦ Á› Gß£x GßÚ ?

8. What is compound duty ?

 CønUP¨ö£ØÓ Á› Gß£x GßÚ ?

9. Define Commodity Terms of Trade.

£sh Áõo£ Ãuzvß C»UPn® u¸P.



3 AFN-1411

10. Give the meaning of SDRs.

SDRs Gß£uß ö£õ¸Ò u¸P.

11. Write a short note on GATT.

GATT &£ØÔ ”¸UP©õP SÔ¨¦ GÊxP.

Section  B (3 × 12 = 36)

Answer any three questions.
All questions carry equal marks.

Answer to questions in about 600 words each.

12. Write the advantages of studying International Trade.

£ßÚõmk¨ ö£õ¸Î¯À PØ£vß |ßø©PÒ ̄ õøÁ ?

13. Analyse the relationship between Terms of Trade and

Economic Growth.

Áõo£ ÃuzvØS®, ö£õ¸Íõuõµ ÁÍºa]US® EÒÍ

öuõhºø£ Bµõ#P.

14. Explain about the fluctuating exchange rate.

©õÖQßÓ ©õØÖ Ãu® £ØÔ ÂÁ›.
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15. Describe the state intervention in foreign trade.

öÁÎ|õmk Áõo£zvÀ Aµ]ß uø»±k £ØÔ ÂÁ›.

16. Explain the difference between free trade and

protection.

uøh°»õ Áõo£zvØS®, öuõÈØ £õxPõ¨¤ØS®

Cøh@¯ EÒÍ @ÁÖ£õmøh ÂÍUSP.

17. Make a critical appraisal of the working of IMF.

£ßÚõmk {v {ÖÁÚzvß £oPÒ £ØÔ vÓÚõ#Ä

öŒ#P.

Section C (2 × 20 = 40)

Answer any two questions.

All questions carry equal marks.

Answer to questions in about 1,000 words each.

18. Examine Hecksher–Ohlin theory of trade.

£ßÚõmk Áõo£® SÔzu öíUåº & K¼ß

@Põm£õmøh Bµõ#P.
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19. What is dumping ? Critically examine the method of

dumping.

SÂzuÀ GßÓõÀ GßÚ ? SÂzuÀ •øÓPøÍ

vÓÚõ#Ä öŒ#P.

20. Distinguish Between balance of trade and Balance of

payments.

A¯À|õmk Áõo£ {ø» ©ØÖ® A¯À|õmk

öŒ¾zx{ø» @ÁÖ£kzxP.

21. Describe the role of International Monetary Fund in

enlarging international liquidity.

£ßÚõmk }ºø©z ußø©ø¯ AvP›US® öŒ¯¼À

£ßÚõmk {v {ÖÁÚzvß £[QøÚ ÂÁ›.

***
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B.B.E. DEGREE  EXAMINATION, APRIL 2011

Sixth Semester

Business Economics

Optional—DATA BASE MANAGEMENT SYSTEM

(Non CBCS—2004 onwards)

Time : 3 Hours Maximum : 100 Marks

Section A (8 × 3 = 24)

Answer any eight questions.

GøÁ@¯Ý® Gmk ÂÚõUPÐUS Âøh¯Î

1. Define Data items.

DATA ITEMS —Áøµ¯Ö.

2. Expand RDBMS.

RDBMS Â›Ä £kzxP.

3. Write down the syntax for ACCEPT command.

ACCEPT PmhøÍ°ß Áøµ¯øÓø¯ GÊx.

AFN- 1412 BBE6E1
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4. Mention the use of Read Statement.

READ PmhøÍ°ß £¯ß£õmiøÚ SÔ¨¤kP.

5. How to make use of CLEAR command.

G¨£i CLEAR  PmhøÍø¯ £¯ß£kzu @Ásk®

6. Why SKIP Command is used ?

GuØPõP SKIP PmhøÍ £¯ß£kQÓx

7. Write the syntax for if ..., else ..., end if command.

if ..., else ..., end if PmhøÍ°ß Áøµ¯øÓø¯ GÊx.

8. What is the use of DISPLAY statement ?

 DISPLAY PmhøÍ GuØPõP £¯ß£kQÓx ?

9. Write a program to subtract two numbers.

“ Cµsk GsPøÍ” PÈzuÀ öŒ#ÁuØS Kº

Áøµ¯øÓ GÊxP.
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10. What are Records ?

RECORDS GßÓõÀ GßÚ ?

 11. Give any four Database Applications.

H@uÝ® 4 uPÁÀ öuõS¨¤øÚU TÖP.

Section  B (3 × 12 = 36)

Answer any three questions.

GøÁ@¯Ý® ‰ßÖ ÂÚõUPÐUS Âøh¯Î

12. Briefly explain the concepts related to DBMS

DBMS Œ®£¢u©õÚ ]» Gsn[PøÍ ]Ö SÔ¨¦

GÊxP.

 13. Compare LIST and LIST ALL command with example.

LIST US® LIST ALL US® EÒÍ @ÁÖ£õmiøÚ

Euõµnzxhß TÖP.



4 AFN-1412

14. Write down the syntax of TEXT . . . END TEXT with

example.

TEXT . . . END TEXT PmhøÍ°ß Áøµ¯øÓø¯

Euõµnzxhß GÊxP.

 15. Develop a simple program to calculate the total price

of a product [ TOTAL PRICE = UNIT – PRICE *

QUANTITY]

J¸ ö£õ¸Îß ö©õzu öuõøPø¯ Psk¤izuÀ

Œ®£¢u©õP Kº Áøµ¯øÓø¯ GÊxP.

[ TOTAL PRICE = UNIT – PRICE * QUANTITY]

16. Prepare a Journal for any  Company.

J¸{ÖÁÚzvØS (SÔ¨¦ PnUS¨ ¦zuP®)

JOURNAL I &u¯õº öŒ#P.
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 17. Create a database structure for Bank and also insert

5 records.

Á[QUPõP J¸ Aø©¨ø£ u¯õ›zx I¢x £vÄPøÍ

@ŒºUPÄ®.

Section C (2 × 20 = 40)

Answer any two questions.

GøÁ@¯Ý® Cµsk ÂÚõUPÐUS Âøh¯Î

18. Explain the advantages of Relational Database

Management system (RDBMS)

RDBMS&ß |ØSn[PøÍ ÂÁ›UPÄ®.

19. Describe the following commands SORT, CREATE,

APPEND, LIST with suitable example.

RÌPsh PmhøÍPøÍ Euõµnzxhß GÊxP.

SORT, CREATE, APPEND, LIST

mailto:@��UPĮ.
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***

20. Write a program to prepare 10th marksheet for any

student.

10&® ÁS¨¦ ©v¨ö£s £mi¯À ©õnÁÝUS u¯õº

öŒ#ÁuØS J¸ Áøµ¯øÓ GÊxP.

21. Explain the DO-WHILE command in detail with

suitable example.

DO. . .WHILE PmhøÍø¯ Euõµnzxhß ÂÍUSP.


